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A knot diagranﬂ Clo €1 €9 C5 Cg Ci11 C3  C2
Ideals for irreducible component#ﬂ)f Xpar

I =w® —u®®+ . +2u—1)

* 1 irreducible components of dim¢ = 0, with total 39 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.

1

4,11*10ﬁ54>94>64>84>1*>34>2?7>7>>01,06


http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

LIt = (u39 —

(i) Arc colorings

1
ailz = \0
1
alg = _u2
—u
as = \ud+u
u? +1
ag = \ —yt — 292
—u® —2u
as = \u? +3u+u
ut +3u+1
ag = —ut — 2u?
ud +5ub + Tut + 202 + 1
ap = —u8 — 4ub — 40
a3 = ( _u17 _ 9’11,15 —31u 13 _
u® + MduB + -+ 10w 4 u
a2 = \ —y?" —15u®5 + .- —3ud +u
—ud0 — 17w+ 202+ 1
ar = \u?0 4+ 16u?® + - — 6u* — 3u?
—u30 — 17U 4 -+ 2u% + 1
a7 = \u30 + 16u?® + .- — 6u* — 3u?
(ii) Obstruction class = —1

(iii) Cusp Shapes =

4B 43T+ —

u3® + ...+ 2u—1)

w'” + 10u'® + 39413 4+ 74u11 + 71u” + 38u” 4+ 18u® + 4u + u
wll — 374 — 1207 — 4u® +u

16u? — 10

)



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Ca, Cg WP 4 2u+1
€3 u? — Ut 4 — 1120+ 17
C4,Cs5,C9 u39_’_u38+_._+2u+1
€10
¢ u — w20 1
cs, C11 W+ 7w o+ 1200 + 17




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
claCQacﬁ y39+35y38++4y_1
€3 v + 7y 4 — 2076y — 289
C4,Cs5,Co v A3y 4y —1
€10
(64 y39_y38++4y_1
C8,C11 y39 + 23y38 + .-+ 3588y — 289




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u= 0.574160 + 0.5946501 2.26953 — 9.161931 | —4.31482 + 8.214661
u= 0.574160 — 0.5946501 2.26953 4 9.161931 | —4.31482 — 8.214661
u = —0.568267 + 0.5673031 —2.96795 4 5.551811 | —9.25872 — 7.706381
u = —0.568267 — 0.5673031 —2.96795 — 5.551811 | —9.25872 + 7.706381
u = —0.131849 + 0.7856771 6.72383 4 4.043021 1.83134 — 4.626791
u = —0.131849 — 0.7856771 6.72383 — 4.043021 1.83134 + 4.626791
u = —0.436022 + 0.6048171 4.84305 4+ 1.026191 | —1.08808 — 3.881431
u = —0.436022 — 0.6048171 4.84305 — 1.026191 | —1.08808 + 3.881431
uw=0.538839 + 0.5118051 —1.18645 — 1.894781 | —6.62379 + 3.076781
u=0.538839 — 0.5118051 —1.18645 4 1.894781 | —6.62379 — 3.076781
u= 0.560794 4 0.4707021 —1.29404 — 1.894221 | —7.65532 + 4.230951
u= 0.560794 — 0.4707021 —1.29404 + 1.89422] | —7.65532 — 4.230951
u = —0.584786 + 0.3995301 —3.45995 — 1.601367 | —11.19941 + 0.989741
u = —0.584786 — 0.3995301 —3.45995 4 1.601367 | —11.19941 — 0.989741
u= 0.604755+ 0.3643121 1.59535 + 5.139861 | —6.25494 — 2.112181
u= 0.604755 — 0.3643121 1.59535 — 5.139861 | —6.25494 + 2.112181
u= 0.101809 + 0.6650551 1.37394 — 1.427531 | —1.59581 + 5.780781
uw=0.101809 — 0.6650551 1.37394 + 1.427531 | —1.59581 — 5.780781

u=0.11689 + 1.443521 7.31578 4 2.672881 0

uw= 0.11689 — 1.44352] 7.31578 — 2.672881 0

u = —0.13315 + 1.473901 2.59124 4 0.847561 0

u = —0.13315 — 1.473901 2.59124 — 0.847561 0

u = —0.474394 + 0.1659111

3.63716 + 2.050701

—5.79681 — 3.196221

u = —0.474394 — 0.1659117

3.63716 — 2.050701

—5.79681 + 3.196221

u= 0.15150 4 1.506201 5.20817 — 4.402071 0
u= 0.15150 — 1.506201 5.20817 4 4.402071 0
u= 0.15186 4 1.537741 5.65303 — 4.344761 0
uw= 0.15186 — 1.537741 5.65303 + 4.344761 0
u = —0.16892 + 1.550917 4.08876 + 8.225971 0
u = —0.16892 — 1.550911 4.08876 — 8.225971 0




Solutions to I V—=1(vol +/—=1CS) Cusp shape
u = —0.12882 + 1.564431 12.14090 + 3.098841 0
u = —0.12882 — 1.564431 12.14090 — 3.098841 0
u= 0.17317+ 1.561341 9.4648 — 11.894171 0
u= 0.17317 — 1.561341 9.4648 + 11.89411 0
u = 0.01653 4+ 1.574311 8.97845 — 1.786591 0
u = 0.01653 — 1.574311 8.97845 + 1.786591 0
u = —0.02567 + 1.597211 14.7937 + 4.55661 0
u = —0.02567 — 1.597211 14.7937 — 4.55661 0
u= 0.323111 —0.690035 —14.8490




II. u-Polynomials

Crossings u-Polynomials at each crossing
Cc1,C2,Cq U39+U38++2U+1
3 39 9y 4. — 1120+ 17
C4,Cs,C9 u39—|—u38+--~+2u—|—1
C10
cr u — B4 — 20?1
cs, C11 w4+ 7w 4 41200 + 17




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,C2,Cp 30+ 3538 oy — 1
& Y30+ 7y . — 2076y — 289
C4,Cs5, C9 3 A3y 4y —1
C10
cr v P dy— 1
C8, C11 y39 + 23y38 + -+ 3588y — 289




